
1. (a) Using A, B and C for the first, second and third couple (respectively)
sitting next to each other, we get
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Pr
£
(A ∪ B̄) ∩B ∩ C ∩ (A ∪ C̄)¤

= 1− Pr £(Ā ∩B) ∪ (B ∩ C) ∪ (Ā ∩ C)¤
= 1− Pr(Ā ∩B)− Pr(Ā ∩ C)− Pr(B ∩ C) + 3Pr(Ā ∩B ∩ C)− Pr(Ā ∩B ∩ C)
= 1− Pr(B) + Pr(A ∩B)− Pr(C) + Pr(A ∩ C)− Pr(B ∩ C) + 2Pr(B ∩ C)− 2Pr(A ∩B ∩ C)
= 1− 0.33 + 0.11− 0.37 + 0.13 + 0.12− 2× 0.05 = 0.56

(using Venn diagram is also OK).

5. Break according to: one player getting the jack of spades + no player
getting the jack of spades
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6. ....

(a) Same number of spades as diamonds:¡
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7. This can be made into a probability tree
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